
 
1. Choose an odd number from the following: 
 
   
                                        
(a) 16     (c) 19  
 
(b) 12                                           (d) 14 
 
 
2. Which of the following is greater in value?  
 
 
(a) 65       (c) 45  
 
(b) 74     (d) 59 
 
 
 
3. The ordinal name of 6 is ____  
 
 
(a) Seventh                                 (c) Fifth 
 
(b) Sixth                                 (d) Fourth       
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4. 5 tens+7 ones=________ 
 
                                             
(a) 57                               (c) 20,19,11,8,3 
 
(b) 75       (d) 20,11,8,19,3 
 
 
5. 7+3=_________     
 
 
(a) 5+5      (c) 5+2   
 
(b) 10+3      (d) 2+2 
 
 
 
 
6. There are 14 roses in the garden. 8 of the roses are red and 
the remaining roses are white. Find the number of white roses in 
the garden. 
 
 
(a) 5                                            (c) 7   
 
(b) 6       (d) 8 
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7.  Fill in the missing number in the following sequence : 
5, 10, 15, 20, ___, 30, 35. 
 
 
(a) 23                                         (c) 25  
 
(b) 24                     (d) 26 
 
 
 
 
8. 18=18+___ 
 
 
(a) 3                                            (c) 1    
 
(b) 2       (d) 0    
 
 
9. Fill in the place holder:  
 
 
             37            20=17 

 
 
(a) +                                          (c) = 
 
(b) -                                          (d) 0 
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10. Fill in the blank:  
                         8+7=___+8 
 
 
(a) 6                   (c) 8 
 
(b) 7       (d) 9 
 
 
11. The given table shows the list of pet animals maintained in a 
locality. Which pet is least in number? 

 
  
  
(a) Cats        (c) Parrots  
 
(b) Rabbits         (d) None of the above 
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12. Find the missing pattern. 

 
 
 
 

(a)     (c)  

(b)     (d)  
 
 
 
13. Name the given picture? 
 

 
 
 
 (a)  Square     (c) Triangle   
 
 (b) Rectangle     (d) Circle  
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14.  The calendar show today is Tuesday. What day will it be 
tomorrow? 
 
 
(a) Friday                                    (c) Wednesday 
 
(b) Sunday     (d) Monday 
 
 
15. How many months are there in a year? 
 
 
(a) 10                                          (c) 12  
 
(b) 11                    (d) 15 
 
 
16. Natalie, a first grade student has 5 dollars with her. How 
does she represent her money value? 
 
 
(a) @ 5                                (c) # 5 
 
(b) % 5      (d) $ 5 
 
17. 1+2+3=___ 
 
 
(a) 4                  (c) 6  
 
(b) 5              (d) 7  
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18. Which of following is more than 10? 
 
 
(a) 7      (c) 10  
 
(b) 9               (d) 12 
 
 
19. Jenny got 5 candies from White, 6 from Pete and 4 from 
Margaret. Who gave more number of candies to Jenny? 
 
 
(a) White                                     (c) Pete     
 
(b) Jenny             (d) Margaret 
 
 
 
20. What is 1 less than 10? 
 
 
(a) 7     (c) 9 
 
(b) 8     (d) 10  
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21. How many dots are in the below picture? 

 
 
 
(a) 9                      (c) 8 
 
(b) 5              (d) 10 
 
22. Find the missing term in the below picture 
 

 
 
 
(a) 9       (c) 3  
 
(b) 7             (d) 5  
   
 
23. How many mangoes are here? 

 
 
(a) 6      (c) 7 
 
(b) 9      (d) 10 
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24. Which of these is lighter object? 

 
 
(a) First            (c) Second   
 
(b) Both of them   (d) None of these  
 
 
25. Who has most number of stars?  

 
 
 
(a) James      (c) John 

 
(b) Richard    (d) Ronals    
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26. Add 4 with 9 
 
 
(a)  14                    (c) 13  
 
(b) 11      (d) 16  
 
 
27. __________ + 222 = 751 what is the missing number in the 
sentence above? 
 
 
(a) 529            (c) 588 
 
(b) 538                                        (d) 583   
 
 
 
28. How many pairs of stars are in the below picture? 

 
 
 
(a) 8      (c) 4 
 
(b) 6      (d) 8  
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29. How many equal sides does the square have? 
 
 
(a)   3     (c) 5 
 
(b)  6                (d) 4 
 
 
30. Yesterday was Saturday. What day is today? 
 
 
(a) Monday                     (c) Sunday 
 
(b) Tuesday             (d) Thursday 
 
31. In the below two persons who is taller? 

 
(a) A      (c) B 
 
(b) both are equal   (d) none of these   

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

www.onlinemath4all.com


 
32. What day of the week is January 15? 

 

 
 
 
(a) Sunday                     (c) Monday 
 
(b) Tuesday             (d) Saturday 
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33. What is the temperature in the thermometer shown below? 

 
 
(a) 72o F     (c) 68o F  
 
(b) 69o F             (d) 71o F 
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34.  How many different types of shapes are in below picture? 
 
 

 
 
 
(a)  3     (c) 5   
 
(b)  7        (d) 6    
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35. Study the number bond below. What is the missing number? 

 
 
 
 
(a) 5                      (c) 7 
 
(b) 6        (d) 8  
 
 
 
36. Which of the following will give the sum of 6 
 
 
(a) 2+9            (c) 5+1 
 
(b) 3+8            (d) 4+3  
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37. Add 5 to the sum of 8 and 4. What is the answer? 
 
 
(a) 16       (c) 19 
 
(b) 17        (d) 18  
 
 
38. If               = 5, then what is the value of 2  
 
 
 
(a) 10     (c) 18 
 
(b) 23     (d) 20  
 
 
 
39. Mrs. James needs 10 pineapples for making tarts. She already 
has 7 pineapples. How many more pineapples must she buy? 
 
 
(a) 8       (c) 1  
 
(b) 2                                    (d) 3 
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40. The total number of students in the class is 20. In that 12 
participated in dance and 5 participated in singing. Then how many 
students didn’t participate in any thing? 
 
 
(a) 8                       (c) 3 
 
(b) 5               (d) 9 
 

41. On which color is the spinner more likely to land? 

 

 

 
 
(a) Pink                    (c) neither; pink and  
                                                         red are equally likely 
 
(b) Red                (d) None of these   
 
 
 
 
 

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

www.onlinemath4all.com


 
42. If one balloon costs $2, then what is the total cost of 3 
balloons?  

 
 
(a) $5      (c) $6 
 
(b) $2      (d) $3  
 
 
43. What is the name of the following shape? 

                               
(a) Square      (c) Triangle  
 
(b) Rectangle     (d) circle  
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44. How long is the pencil? 

 
 
 
(a)  4 cm     (c) 6 cm 
 
(b) 5 cm     (d) 8 cm  
 
 

45. Kevin wakes up at 6 o'clock every day. If he slept at 9 PM at 
night, how many hours did he sleep? 

 
 
(a) 8             (c) 6 
 
(b) 9               (d) 10 
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46. What is the missing number? 

 

 
(a) 16     (c) 14  
 
(b) 30     (d) 28 
 
 

47.  Tom has 4 cards now. He buys 5 cards every day. How many 
days does he take to collect 20 cards altogether? 

 
 
 
(a) 6        (c) 7 
 
(b) 5       (d) 4  
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48. Alvin has 15 balloons. He has 9 balloons more than Leon. How 
many balloons does Leon have? 
 
 
(a) 6             (c) 2 
 
(b) 12             (d) 1  
 
 
 
49. How many numbers are there between 5 and 8?   
 
 
(a) 3               (c) 4  
 
(b) 2                    (d) 1 
 
 
 
50. Which number comes just before 100? 
 
 
(a) 89     (c) 90 
 
(b) 99     (d) 100 
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Answers  
 
 
1. c  2. b  3. b  4. a  5. a  6. b   
 
 
7. c  8. d     9. b  10. b  11. b  12. c 
 
 
13. a  14. c  15. a   16. d  17. d  18. d 
 
 
19. c  20. c  21. b   22. a  23. d   24. c 
 
 
25. d  26. c  27. a  28. c  29. d  30. c 
 
 
31. c  32. d  33. a  34. d  35. b  36. c 
 
 
37. b  38. a  39. d  40. c  41. a  42. c 
 
 
43. c  44. a  45.  b 46. c  47. d  48. a 
  
 
49. b  50. b    
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